
3 rd

1 o

iL
z = -1 - I;

Arg@zD

-
3 Π

4

iiL
In[7]:= Integrate@x Exp@-2 xD, xD

Integrate@x Exp@-2 xD, 8x, 0, 1<D
N@Integrate@x Exp@-2 xD, 8x, 0, 1<DD

Out[7]= ã-2 x -
1

4
-
x

2

Out[8]=

1

4
-

3

4 ã2

Out[9]= 0.1484985
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2 o

iL
In[1]:= A = 881, 2, -1<, 82, 0, 3<, 8-1, 3, 2<<;

MatrixForm@AD
B = Transpose@AD;
MatrixForm@BD
A - B �� MatrixForm

Det@A.BD
Out[2]//MatrixForm=

1 2 -1

2 0 3

-1 3 2
Out[4]//MatrixForm=

1 2 -1

2 0 3

-1 3 2
Out[5]//MatrixForm=

0 0 0

0 0 0

0 0 0

Out[6]= 841

iiL
Integrate@1� Hx Hx^2 + 5LL, xD
Log@xD

5
-

1

10
LogA5 + x2E
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3 o

In[17]:= f@x_D := x � Hx^2 + 1L
Print@"1st Derivative : ", Simplify@D@f@xD, xDDD
Print@"Critical Points : ", Solve@D@f@xD, xD � 0, xDD
Print@"2nd Derivative : ", Simplify@D@D@f@xD, xD, xDDD
Print@"Inflection Points : ", Solve@D@D@f@xD, xD, xD � 0DD
Plot@f@xD, 8x, -3, 3<, AxesOrigin ® 80, 0<, PlotRange ® All,

BaseStyle ® 8FontFamily ® "Arial", FontSize ® 12<,
AxesLabel ® 8"x", "fHxL"<,
PlotStyle ® 8Red, Thickness@0.005D<D

1st Derivative :
1 - x2

I1 + x2M2

Critical Points : 88x ® -1<, 8x ® 1<<

2nd Derivative :
2 x I-3 + x2M

I1 + x2M3

Inflection Points : 98x ® 0<, 9x ® - 3 =, 9x ® 3 ==

Out[22]=

-3 -2 -1 1 2 3
x

-0.4

-0.2

0.2

0.4

fHxL
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